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tan, cot, sec, csc2& EFY 2

sint
tant = ——
an st (cost # 0),
1
tt = —
co —— (tant # 0),
1
sect = wost (cost # 0),
|
csct = Snt (sint # 0).
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e 7 (A4 45 aA)
sin?t +cos?t =1,
sec’t —tan®t =1,
csc?t —cot?’t =1.
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A PolA 230 MY 542 Bg Heh 3
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sin®t + cos’t = 1.

1+tan?t =1/cos’t = sec’to]B g
sec?t — tant = 1.

1+cos?t =1/sin’t = csc?to] B8

csc?t —cot?t = 1.

2] 8 (sine ¥ 2) AABC|A AB=c¢,BC =a,CA =bz} 34,

a b ¢
sind ~ sinB  sinC’

=¢,BC = a,CA =03 AABCAA 1% 83} Zo] HEZE
AQ D983 ¥ ACTE B B E O, A CrollA 2%
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FA CoH & WATh = XA CAA =25

AH =bcosA, CH = bsin A.
ABH3Cy ~ ABHCOIE2 1:a=cosB:BH =sin B: CH. wWe}A

BH =acosB, CH = asinB.
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C(bcos A,bsin A) (1)
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=
C(c — asin B, asin B) (2)
21 (1), (2)H FAH C yHEE v 2dd
bsinA =asin B
a2}
b ¢
sinB ~ sinC
a2}
a a c

sind ~ sinB ~ sinC’
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A 2] 9 (cosine A 1'§2])

a =ccosB+bcosC,
b =ccosA+acosC,
¢ =acosB+bcosA.
9. AABCY BAH Co) FRE T2 To| F 7AAZ ekl £
ee 2 Atk
C(bcos A,bsin A} C(c — acos B,asin B).
4714 BAH C2) rHEE W ZFHT
bcosA=c—acosB
ol 2
c=acosB+bcosA.
R Yo R
b =ccosA+acosC,
a =ccosB +bcosC.

2] 10 (cosine A 2% %)

a? =b+ —2bccos A,
b? =c?+a® - 2cacosB,
¢ =a®>+b? —2abcosC.
29, o] cosine Y H ol AR a,b,cE FA F3td

a® =abcosC +accos B (3)

b2 =bccosA+bacosC (4)

¢ =cacosB+chcosA (5)
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A71A (3)-(4)-(5) 3¢

a® = b — % = 2bccos A.

AN

a® = b + % - 2bccos A.

b2 =c?+a?-2cacosB,
A =a®+b*—2abcosC.
A2 11 BEE F5 nof tisf t}So] HH Bt

sin(2nm +60) =sinb,
cos(2nw +6) =cosé,

tan(2n7m +6) =tané.

29, 2= A4 poj thatd zZte] 32717} 2nn + 09} 65 VERE 57
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sin(—0) = —siné,
cos(—6) = cosb,
tan(—6) = —tané.
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y
P(z,y)
]
0 -0
P'(z',y")
a49
e A
Sil’l(—0) = y' =-—y=- sing,
cos(—8) =z’ =z = cos#,
Yy y
tan(-0) = ] = ~Z = —tané.
A= 13
sin(m +6) = —siné,
cos(m+6) = —cosb,

9. Z2] 2717} 09 1 + 68 YERE

tan(m +8) =tan®,

Sil’l(ﬂ' — 0) = sin 0’
cos(m —0) = —cosb,
tan(mr — ) = —tané.
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T+

P(z,y)

P’(I’,y,)

a8 10
zl = —I7y’ = "y°]‘—3-§

sin(m+60) =y =-y=—sind,

cos(m+8) =z’ = —r=—cosh,
'
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tan(w + )

y = tan#.
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sin(r —8) =siné,

cos{(m —6) = —cos#,

tan(m —4) = —tané.
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sin(r/2 — ) = cosé,
cos(n/2 —0) = —sind,
tan(r/2 — ) = cotb.
zv, zte]l A7} 09} 7/2 - 62 YEhNE A 05 FAU2E 32

WA ol 19 93 2BE 7 7 P(s,y), P'(z,y) 0l 3 A P}
P2 AA y=zol th3te] Aot} (21 11)

a3 11

w}e}Ad
sin(r/2-0) =y =z = cos,
cos(m/2—8) =1z’ =y=sinb,

tan(7r/2—9) —_-_=§=——=cot0.
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d2] 15 (A gy e)

sin(a + 8) =sinacosf + cosasin g,

cos(a + ) = cosacosf — sinasin g,
tan a + tan

tan{fa + 8) = +tanp

" 1-tanatanB’

9. FEFUS A T4 0 HA Y} 2270 R BL A7} d3}
59 ¥ RESE NxAMLg 33 7o 377} 0,89 2 UEIY =
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ol wf P,Qe} HEL 7 7}
P(cosa,sina), Q(cosS,sin )

o]_p_

LPOQ=8-a, OP=0Q =
APOQOIA ZAFIY A& o3

PQ’ = 0P +0Q" - 20P0Q cos(£/POQ).
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wretA § A& A7EE
(cosa — cos B)? + (sina —sin 8)2 =12 +1% —2-1-1cos(8 — a).
A4S AQe
cos(a — B) = cosacos 8 — sinasin 8.
o] JojjA Al —5E Y3t
cos(a + B) = cosacos B — sinasin 8. (6)

oA

sin(@+8) = —cos{(r/2+a)+ s}
(7)

= sinacos 3 + cosasin 3.
A (6)3 (7)E ol 83td

tana + tan 3

tan(a + §) = 1—-tanatanf’

wg3el 16 o $40 YPeh

sin2a = 2sinacosa,
cos2a =1-— 2sin® «,
2tana
tan2a = ———5—,
1 -tan“a
sin3a = 3sina — 4sin’q,

cos3a =4cos®a—3cosa,



AR Bo0l ME Adgso Xz 141

1-
sin’(a/2) = ;osa’
1
cos?(af2) = +;osa’
1-—-cosa
tan*(a/2) = 1+cosa’

sinacosf = 2 {sin(a+ ) + sin(a - B)}
cosasinf = -;— {sin(a + B) — sin(a — B)},
cosacosf = % {cos{a + B) + cos(a — B)},

sinasinf = % {cos(a + B) — cos(a - B)},

sina +sinf = 2sin((a + 8)/2) cos((a — 3)/2),
sina —sinf = 2cos((a + B)/2) sin((a — B)/2),
cosa +cosf = 2cos((a+ B)/2) cos((a — B)/2),
cosa —cosB = -2sin((a + B)/2) sin((a — 8)/2).
9. A2 152 o] §3td gA FHE £+ AUk

V  sine @9} cosine T2 d&44 9
Ll R e
1 sine 49} cosine T49] A%
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|sinz| < |z|.

%9. 1% 13014 AOABS W3 < §AE OABS AHcE=R

y

sin a7
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sinz
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|sint2—sint1| Sltg—tll,

|costy —costy| <[t —t].

9. m53 3 169 9 34

)+t . fti—t
|sint — sint, | ='2cos(%) sm( 1 3 2)

. [t —ta2
<2 -
an (5}

t; — ¢t
! 2 =|t2—t1|.
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Ze&gez oL 24 4+ Yk
fcosty —costy| < |ta —t].
A2 20 sinz o} cosz= BE A5 zoA] g0l ol

9. 2xAe 199 28 sinzS cosz= BE A4 zol A AL 3}
Folc}h.

VI sine 3¢} cosine 49] u| 27154

B 21 B4 f(2)7h z = a 2YIN HoS o] Y The 2ok =
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BT z = aoll A9} mlEASeT Bk
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h—0 h
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f:D—R,
f’(.’L‘)= lim f(22+h’3—f(.’11)

h—0
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limz_;q g(z) = pet sHe
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ojlm g
sinz < <1ta z
11 =T - .
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o2} A
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sinz < r<tanz (0<:c<§).
=

sinz
cosr < — < 1.
T

P

cosine ¥4 = d<Lojlnzg

lim cosz = cos0 = 1.
z—0

H2Ae 220 o3ty

sinx

1= lim cosz < lim <1
z—0+ =0+ 1

w2} 4]

lim Sz _ 1

z—>0+ I
H] 23 A|

lim 2% =1

z—=0- I
4E 3HE + AL

8] 24 sine 9} cosine FrL= BE HojA n]EIASsT

d . d .
—sinz = cosx, —cosz = —sinz.
dx

dr
9. f(z) =sinze} 3@

lim flz+h) - f(z) - lim sin(z + h) —sinz
h—0 h h—0 h
- lim 2sinh/2cos(z + h/2)
h—0 h
- lim S0 h/2

h—0 h/2

-cos(z + h/2) = cosr.
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